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TASK 3. Listen again and complete the text below with one word or number for each gap. 0

ASQ5828: ACEY 5828, we're getting smoke in the cockpit.
ORD TWR: ACEY5828, roger, advise what...1)
ASQ5828: We're 2)
ORD TWR: And what would you like to do, ACEY5828?
ASQ5828: 3)

ORD TWR: 5828, Tower.

ORD TWR: ACEY5828, low altitude alert, climb immediately.

Meanwhile, pilots had switched to the Departure frequency, and reported to a different controller.
ASQ5828: ACEY 5828, altitude 4) , we’ve got smoke in the cockpit, 5)

ORD APP: ACEY5828, Chicago Approach, roger, can you maintain6) __ ? We’ll vector you for
immediate approach to runway 7)

ASQ5828: 2500, immediate approach 4R, ACEY5828.

ORD APP: 5828, you're radar contact at 1900, the 8)
ASQ5828: 2992.

ORD APP: ACEY5828, roger, fly heading of 9) , radar vector for final approach course,

10) , and the final approach course is 11)

ASQ5828: 12) , ACEY5828.

ORD APP: 13) ? Localizer 110.1, and the final approach course is 045.

ASQS5828: Roger that, ACEY5828.
ORD APP: ACEY5828, say souls and fuel, please...
ORD APP: ...and ACEY5828, turn right heading of 250, base leg 14)

ASQ5828: ...250, base leg 2 miles, ACEY5828.

ORD APP: ACEY5828, turn right heading of 300, if you get the airport 15)
ASQ5828: 300 heading, ACEY5828.

ORD APP: ACEY5828, the outer marker is REKKS and the altitude is 2200, and 16)

advise.

to that altitude in a moment.

ASQ5828: all right, 2200, ACEY5828.
ASQ5828: Stand by, and just 17)

ORD APP: ILS runway 4R, localizer 110.1.
ASQ5828: Roger that, 110.1.

ORD APP: ACEY5828, turn right heading of 18)
ASQ5828: All right, 310, ACEY5828, and I show it active.

, 111.7 is the frequency, and we’re going to 4R, is that correct?

advise when you have the localizer active.

ORD APP: Thank you, heading 010, intercept the runway 4R localizer, descend and maintain 2200.

ASQ5828: All right, 2200, 19) heading, intercept the localizer for 4R, ACEY5828.
ORD APP: ACEY5828, do you have the souls and fuel yet?



